     

	[bookmark: _GoBack](4.) Perform a first-hand investigation to demonstrate the transfer of light by optical fibres

· Light from a light box is produced through a narrow beam of intense light. The thin beam will hit a perspex prism and by moving this prism to achieve a certain angle → where the critical angle is exceeded, the light can be totally internally reflected so that no visible light is escaping the prism in a dark room.

·  This can be modelled by shining the same beam against one mirror angled toward another mirror which will continue to reflect in a forward direction depending on the angle of each mirror. This process is of course slightly different to the exact transfer of light which is totally internal and occurs in a vacuum fibre. The mirrors act as the less dense glass in the optical fibre, albeit they are so reflective that no light should dissipate past the mirror.
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